R-FhILIE
LRIEROOLE

AN

Y5 )Y THRENRL

e RADOREES | Rmax. 16 umBRIc 2
B RADEFARE  h9/HI

d _ D
N fwft N LY mE HE EHRY (BN BEE
dx D Li L B MY N B | RR ey | m Kg
Nm KN | N/mm2 | N/mm?
20 x 47 17 20 27.5 334 33 | 259 | 111 8 |M6x 18 14 0.24
22 x 47 17 20 27.5 365 33 | 236 | 111 8 |M6x 18 14 0.23
24 x 50 17 20 27.5 445 37 | 243 | 117 9 |[M6x18 14 0.26
25 x 50 17 20 27.5 463 37 | 233 | 117 9 |[M6x18 14 0.25
28 x 55 17 20 27.5 515 36 208 106 10 IM6 x 18 14 0.30
30 x 55 17 20 27.5 549 36 195 106 10 [M 6 x 18 14 0.29
32 x 60 17 20 27.5 778 48 | 243 | 130 | 12 |[M6x 18 14 0.34
35 x 60 17 20 27.5 846 48 | 222 | 130 | 12 |[M6x 18 14 0.32
38 x 65 17 20 27.5 1140 60 256 150 14 |M 6 x 18 14 0.36
40 x 65 17 20 27.5 1200 60 | 243 | 150 | 14 |M 6 x 18 14 0.34
42 x 75 20 24 33.5 1840 87 283 158 12 |M 8 x 22 35 0.60
45 x 75 20 24 33.5 1960 87 264 158 12 |M 8 x 22 35 0.57
48 x 80 20 24 33.5 2090 86 | 247 | 149 | 12 |M 8 x 22 35 0.62
50 x 80 20 24 33.5 2170 86 237 149 12 |M 8 x 22 35 0.60
55 x 85 20 24 33.5 2760 100 252 163 14 |M 8 x 22 35 0.63
60 x 90 20 24 385 3000 100 231 154 14 |M 8 x 22 35 0.69
65 x 95 20 24 385 3700 113 244 167 16 |M 8 x 22 3B 0.73
70 x 110 24 28 39.5 | 5510 157 | 270 | 172 | 14 |[M10 x 25 69 1.26
75 x 115 24 28 39.5 | 5890 | 157 | 252 | 164 | 14 |[M10 x 25 69 1.33
80 x 120 24 28 39.5 6260 156 236 158 14 |M10 x 25 69 1.40
85 x 125 24 28 39.5 | 7570| 178 | 254 | 173 | 16 |M10 x 25 69 1.46
90 x 130 24 28 39.5 7980 177 240 166 16 |[M10 x 25 69 1.53
95 x 135 24 28 39.5 9440 198 256 180 18 |[M10 x 25 69 1.62
100 x 145 26 33 47 11250 | 225 | 234 | 162 | 14 [M12x 30| 120 2.01
X EE NS EINE EEH 1 2 3
NIL7EIN{E X Mt 1 1.9 2.7

EVN 120




